>
A & 0l & AF 2 E A A
20149 S0la LA #EX
SN BEIE D
M HFHXF A2
Sl FRHH YEYD PE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
™ XI2 Dt 19,984,381 19,337,696 646,685
= 26,194
& 630,000
J| 89,826
< 1,189,795
s 18,048,566
HYXE Fe2at 6,182,091 4,835,932 1,346,159
= 26,194
< 57,027
fia 6,098,870
geldd WERA #+= 3,471,104 1,685,646 1,785,458
= 600
< 41,496
[ia 3,429,008
tegsasad 59,040 73,520 A 14,480
201 £B-2dH| 20,040 19,520 520
01 At 22l 10,000 12,000 A 2,000
OURESRH AIAB 10,000
02 2324l 5,000 0 5,000
Osg & HELALYR IR 5,000
03 A2 Z Hl 5,040 7,520 A2,480
O=oInte Uizt 24 SHIHE HMA
70,0003 24 125 &H »23] 3,360
OXoInel st 2% 48 2l
70,0003 125 & 23] 1,680
202 4 tl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OHF K& 6,000
203 R =&t 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
OHFIXA HAgxr=x 3,000
301 et a3z 30,000 45,000 A 15,000
09 HALAHIEA S 30,000 45,000 215,000
OXtoH2 e ALK 30,000
—S% THBH HAXA
3,000,000& *109H A& 30,000
S UM2IE 176,012 122,800 53,212
101 @124l 93,312 66,600 26,712
04 JIZHHZ2Z 2RSS E+ 93,312 66,600 26,712
Os4FIHHA 1= 38,880 x10H +x00 34,992
O=0E&8UN o2 38,8803 x10H 150 58,320
201 2et24d] 16,700 15,200 1,500
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SN BEXAD
B BN ABYs
ool YT YEYD 71E CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2t2l bl 16,700 15,200 1,500
o849 ¥ &Y 32 s ME
300,000& *15H 4,500
OAEEA LIt 600
OsM=¢Y 6,100
— HIAL 10,000 #2353 x 13t S*1& @ 202 & 5,200
— F A 45,0003 *23| x*2 M S*x 12 B x5S & 900
O2H HExH 10,000& x20H #23| 400
O2HAE L AMoxY
45,000 121 S+2H «2 3] 2,160
OANEZSY 40,0003 *6H 13| 240
@)FSES=, 1,200
— 52 50,0003 *3H x4 3] 600
— 62 0l3at 50,0003 *3H x4 3] 600
OQIAZZ] AIRES 7Y 1,500
202 04| 7,000 7,000 0
01 2L Y] 7,000 7,000 0
OXxZ 22| 7,000
303 A2 20,000 20,000 0
01 ZAZ 20,000 20,000 0
O&I2xs SR =UHH 500,000& *40H 20,000
308 XX SHHSO0IA 39,000 14,000 25,000
05 AXISHH2EE 2 39,000 14,000 25,000
O3S ANEAE®RE=2 1,500,000 x26H 39,000
Z=0Igtgt SiAt 29 129,850 109, 000 20,850
201 L2 | 74,850 54,000 20,850
03 At L 74,850 54,000 20,850
Oz & 015 A 20,000
OZ U E Al 800,000& x5 4,000
OSANE SAH 7,000& x450H 3,150
Oxzx3&YS 1,800& x1,500 2,700
OZo LIS & A 45,000
307 QI2t0| & 55,000 55,000 0
02 0IAtBAEXZ 55,000 55,000 0
OHMIB23 LalZololLt 5t stotE & X 25,000
OHMb2sl da=zoloy nNaogy ¢ @& 30,000
HAUEI 2= 12,700 13,200 A 500
201 LEr2 9| 4,700 4,200 500
01 At 22/ 4,700 4,200 500
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SN BEIE D
M HMHXY SSEASG
Sl FAMY YEYT IS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al A H| 8,000 8,000 0
OZXIAF Al 28 AL 8,000
= 3,000
= 5,000
Ol E & AHD| &I 931,630 931,630 0
201 et d| 45,000 25,000 20,000
03 A2 HH| 45,000 25,000 20,000
OO0l &CtgterstOtE 25,000
OO0F AUSE 28t AAE L HYAE
200,000€ 1004 20,000
301 LBt A= 886,630 906,630 A 20,000
02 Xsr=2 Y&k 2 10,000 10,000 0
OO0l & XRH &2 2,500,000 42 D| 10,000
0D SHE -0 -BHEEESEM= 876,630 876,630 0
OO0l &< 839,680
—-Jl=22 200,000 x2562 x123] 614,400
— &= 200,000 256X 23| 102,400
— 3o ENS LG 20,000& 256 H 128 23] 122,880
OBr& =& 50,000& *739H 36,950
Ol & ol E&a3 15,360 20,480 A5,120
= 7,680
= 7,680
307 QI2t0| ™ 15,360 20,480 AN5,120
=} 7,680
= 7,680
06 282 15,360 20,480 N5,120
OO0l Mol 2 &= 15,360
& 7,680
= 7,680
228 HH 22 1,524,414 73,225 1,451,189
308 XAHXIEHSOIA 1,524,414 73,225 1,451,189
08 JlEIRE Y2 1,524,414 73,225 1,451,189
OHMbal F=2SAMAEEH =H L A AHH| 236,434
OHN63 d=2SAMANLEH 28 L AS5HH| 19,180
OM6El MZESAXNESHEH EXHE2 1,268,800
MOISXEX AE &2 & 4,480 4,622 AN 142
= 2,240
= 2,240
301 et A= 4,480 4,622 AN 142
= 2,240
= 2,240
02 &st=dsi=2 4,480 4,622 A\ 142
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PN HEX D
My BN AYLE
Sl FAMY YEYT IS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,400 0 7,400
02 QItFAE XS 7,400 0 7,400
oz 2sX& 7,400
SHMAHZel(M6s M=sAXNLYEH 3SEHl) 42,868 0 42,868
< 28,576
[ia 14,292
101 @14l 9,037 0 9,037
< 6,023
i 3,014
04 D12t 22 EE = 9,037 0 9,037
ONesl d=2SAXNELHN LER 9,037
- 60,236 *1H *302 1,808
< 1,204
s 604
—-SY 60,2363 x1E*x10L+x125H 7,229
= 4,819
s 2,410
201 ¢er24| 25,131 0 25,131
< 16,753
s 8,378
01 A2 22l 24,258 0 24,258
OEANAE ReI2 M= 250& 13,872 Ml CH 3,468
< 2,312
s 1,156
O=AER 2 3,360
- 24,0003 20t A 480
< 320
[ia 160
el 24,0003 <10 A+128 S 2,880
< 1,920
s 960
OANEEEFEY 1,500
- 300,000 300
< 200
s 100
-d 100,000& x 128 & 1,200
< 800
i 400
oga, 8@+ M 2,050
- 250,000& 12 250
< 166
e 84
—-d 150,000 x 128 & 1,800
< 1,200
i 600
OOQHLH 2 X+ & 1) H &I = 5,000& 2002 1,000
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SN BEIE D
HE: HIAY ABAE
Sl FAMY YEYT IS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 667
- 333
O HAMBE AL HAH 10,080
- 7,000 8 x30L 1,680
& 1,120
= 560
- 7,000 x5H %20 x 125 A 8,400
= 5,600
= 2,800
OEHLES =T (AISESAXZEEH) 2,800
— 200,000& *x23] 400
o= 267
= 133
— ™ 100,000 23| x 125 H 2,400
& 1,600
= 800
02 22244l 873 0 873
OBMAAMNIDIAN RER2 1,930& *452H 873
o= 581
= 292
202 044l 8,700 0 8,700
= 5,800
= 2,900
01 2L Y| 8,700 0 8,700
OEHYEE=T(HE & NE=EH) 8,700
- 10,000 *52 x30! 1,500
o=} 1,000
= 500
- 10,000 *3H 20 125 H 7,200
& 4,800
= 2,400
NeHE=SLE K& 11,850 0 11,850
307 2Iz2t0| A 11,850 0 11,850
03 Al X2 11,850 0 11,850
OZ2LXA AIY L QLR 2 EX|EL 11,850
HEANAII2S YAZES XN 20,000 0 20,000
307 2izto| A 20,000 0 20,000
03 Al3ISHHE X2 20,000 0 20,000
OHtEHales AFY & Had X2 20,000
MOt 423 A 64,900 0 64,900
307 QI2t0| & 64,900 0 64,900
03 A3l HEXZ2 64,900 0 64,900
OMNOI2 22 ns, 83=2MOSXNEXUHE A 8,300
OAHES ©2 502 3MALY 22,800




SN BEXAD
B BN ABYs
ool YT YEYD 71E CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IEEEEEERE 33,800
HEZS A Sat 772,890 906, 131 A 133,241
< 2,880
[ia 770,010
HEE FAEE =4 278,190 274,860 3,330
101 @14l 4,000 4,000 0
04 JI2ZtHZ22 a2+ 4,000 4,000 0
O&EAMARX 212 100,000& 10X =4 3| 4,000
201 Let249y| 253,390 245,060 8,330
01 At 22/l 113,450 113,150 300
Oogxs+g 72,450
— =3 50,0003 «3H «3652 54,750
— 243 50,000 «3H «118 17,700
Ogaazd 3,000
ONMR=HY ZgH R 3,000
OFAESH ME =&l 5,000
OH=3J & Jt=2J7] 7 3,000
—H32J(HZ) 6,000& x100& 600
—E=2210012) 8,000& *300& 2,400
O&E At 2el 27,000
02 2324l 139,940 131,910 8,030
OAgotdE 93l 3| 80
OXNSAHIAE S22 (28)
250,000 128 3,000
OF=PNENS- SelFS SR 430,000& x12& 5,160
OFAMNALAMAIE FANES 600
OFAN A EHA 131,100
202 O4dl 10,000 15,000 A5,000
01 = LH 4 1l 10,000 15,000 25,000
ONE=H 7,000
O=2AMALE 3,000
303 L& 3 10,800 10,800 0
01 243 10,800 10,800 0
OBMESZHH &3 10,800
— S=40H 300,000& 123 =20 1t 7,200
- =59 300,000& 128 3,600
=S 2l 59,073 64,455 Nb5,382
201 LB-2g| 59,073 59,073 0
01 At 2t 2l 32,580 32,580 0
OEAM7Y 8,000
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Hl w
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SN HIXAD
B BN ABYs
Sl IS N B4 (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OJIE DNEESH(Q2AI|2 AOIH BE S)
110,000 »100H 11,000
OXJdsg aa A== 5,000
202 044 221,500 221,500 0
05 22& W=s0H| 221,500 221,500 0
OsHalZIHIHE(19) 33,000
Od2unENRE(1F) 45,000
OX2UEWEH(2F) 15,000
OA=20 1A 3,000
OJIE2(AMRF)USHEAE (4=) 7,000
OsYd2UsIE 100,000
ObhzZs& el d 12,500
OEXME A UHE 6,000
ZTU2I2AIAE 22 4,910 11,984 NT,074
201 Yet2 | 4,910 11,984 AT,074
02 2224 H| 4,910 11,984 NT,074
O=W22AAE S/W SXE23H|
45,667,400 *10.75% 4,910
HAE SH 22 22,337 18,132 4,205
101 Q124 H| 13,337 9,132 4,205
04 JI2ZtHIZ22NEES 13,337 9,132 4,205
OEHXTA QI (MAMEA S) 13,337
— XZAOIE 49 5403 x 152 20 *80% 11,890
—HMYE U HBUE
45,1903 2 x20 *80% 1,447
201 et | 9,000 9,000 0
01 AP 2t 2| bl 9,000 9,000 0
OMEHM SHEAN L2+ 40,000 x1008 4,000
OeAZ SHAHE g2t 40,000 10082 4,000
OEdatE M= 50,000& *203] 1,000
HE29| ASIEH XA 2,880 0 2,880
== 2,880
101 Q124 4] 2,880 0 2,880
= 2,880
04 JI2ZtHIZ22 NEES 2,880 0 2,880
OHFE9 AISIEHZEZAF 48,0002 * 10H * 6 2,880
= 2,880
SSH0 HHHLG RS 779,189 923,770 A 144,581
= 25,594
= 12,651
= 740,944
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SN HEXAD
HE: HIAY ABAE
ool SEXQ BB P SER-ED
SA - EB .S (BH) - NBEAY - BAS ﬁlf& HD=2
M AAAE S22 307,208 381,910 NT4,702
201 et A | 87,045 75,873 11,172
01 AFR 22l bl 3,920 3,920 0
O&dEs 23 Edoe M 50,000 «6H 300
O8Es 2 =2 mral H& 200,000& *3H 600
OFEXAQUZ AAS 200,000& *3H 600
ONZQ ol EsHNE AAZ
300,000 *23] 600
OZely Ed+¢ 330,000& *43] 1,320
OXzeE22 Cb/OVD ¢ 5,000 x100& 500
02 53294l 83,125 71,953 11,172
OFXNZMAIAE SXNE 15,760
—otEAN 66,700,000& *8% 5,336
—ATEN 82,900, 000& *8% 6,632
— IOl EfHI Ol A 47,400,000& *8% 3,792
OZHOIX RAEx 8,535
—olEAN 6,677,000& *8% 535
—ATEN 100,000, 0002 *8% 8,000
OIMeIAE BSAAY SIE$
23,980,000 *8% 1,919
OB EHYE RANEE 40,400,000%8% 3,232
Os&gz192 RANES 7,000,000 *8% 560
ORFNNMIIAEX FANES 79,000, 000& *6% 4,740
OgesEs 2 38,986,000& *8% 3,119
OZHOIA QU AAHASOS 55,000& x12& 660
OXNSKREYUINANAEY KBS
43,500, 000& *8% 3,480
OBEXJIYHM SXE2% 57,000, 000& *8% 4,560
OBEARX SANEL 54,196,000& *8% 4,336
OXgYHMELIU SANES 88,400,000& *8% 7,072
OBAAX RIS 105,000, 000 & *8% 8,400
OMHBEHB U A AE ST 2
61,500, 000& *8% 4,920
OsgEotzel(gatd dIIHAIAE SANE%
97,900, 000& *8% 7,832
OXEAAIEEAAE SXE 24 4,000
202 04 d| 2,000 2,000 0
01 2L Y] 2,000 2,000 0
OFE Sl 2,000
207 AT OH ] 64,000 184,900 A 120,900
02 & AR Y| 64,000 184,900 A 120,900
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A BENED
B BN ABYs
Sl BB WYL 78 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OZEHHI0IHA Setae T2 (gD
dolE) 30,000& *700H 21,000
OHEARE ATEYN P2 43,000
403 XtXISHH S K201 75,163 70,137 5,026
02 3|2t SO0fl CHStHCH & At b 75,163 70,137 5,026
OANZFHEAE M AEH S X2
1,073,750,540& *7% 75,163
405 XHo&HF S HI 79,000 49,000 30,000
01 JHMY 2= EF S HI 79,000 49,000 30,000
ONAA AHEBARAX 7L 40,000
OZ2SD|BAAHY 25 B 39,000
HEMBAIAE 2H 282,003 281,555 448
101 21 21d| 17,603 16,955 648
04 JIZtHI22XNSE S 17,603 16,955 648
OFAMHESG COHLY o122 17,603
-Jl2= 39,970& 1 %253 10,113
— &3 10,112,410 12 x4 /12 3,371
—R=2FEE 39,9703 13 53 2,119
PN 39,970 1«20 800
— 9 &SIl 600,000 x1H 23| 1,200
201 Yet2 | 263,400 264,600 A 1,200
01 AtR 22l ] 7,600 8,800 A 1,200
O™ NGHS =& L2t 5,000& *1,0008 5,000
OKRFE ¢#&s5sd ME2Hl 100,000& 128 1,200
OR4H0I0Ia & YN8 HEX 2
5,000& =404 200
OUHIERZa XM 2 100,000& ~12& 1,200
02 3324l 255,800 255,800 0
O sS4l 18,000,000& 12& 216,000
OFA ESEAH (A2 H,23])
2,000,000& x12& 24,000
OFBEANEZ(24.22%) 100,000& ~12& 1,200
OolaASMSAIE = 500,000& x12& 6,000
OXHEBESNAE A2 (XHPL) 5,000
ONAMEA BHHAZA 22 300,000& x12& 3,600
202 044 1,000 0 1,000
01 2LHOHI 1,000 0 1,000
OFESASAMAISEZ A OH] 1,000
IR SHY 75 59,121 39,396 19,725
308 AHXI S M SO0l & 59,121 39,396 19,725
05 MHXHN2AHES 2 59,121 39,396 19,725

- 356 -




SN BEIE D
HE: HIAY ABAE
S9l: SEHO YIS D CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OE-32 AESAFEAIEE B2 17,796
OsHE 209 g g 2= 25,467
O22Z 2o0l0t0l 2= 15,858
HES0IE 29 43 23,902 94,402 A 70,500
201 et | 15,302 15,302 0
01 AP 22| H| 1,000 1,000 0
OFoIn=0M 10,000 *50& *23| 1,000
02 224 H| 7,702 7,702 0
OdES0IS EHOIXN SXEx
32,089,000 x8%*3H Ol = 7,702
03 A2 G| 6,600 6,600 0
OXFES0Is =490 2 HAHEH EE= MZE
500,0002 *3JH 0= 1,500
OXFES0IS HAEY AHHEH EE=S ME
500,000& *3JH 0= 1,500
O&dES0IS HAEH EIHH]
1,200,000 x3 0= 3,600
202 o4l 2,000 2,000 0
01 2Ll 2,000 2,000 0
OXFES0Is 29 XN 2,000
301 et A= 6,600 6,600 0
09 SHAIAHI B A2 3,600 3,600 0
OFES0IE |dd U 4 & 398
75,0003 *3)H O S *3H 2L 1,350
OFES0IES AAHANEEH &A
30,000& *3 O = *x5H x2 900
O&FE 302 HAEY &4
50,000& *3)H O =S *3H 3L 1,350
11 JIEIE A2 3,000 3,000 0
O&FES0IE F2WSE 22 At
30,000& *2 Al 2t*x10L x53] 3,000
A2 Mal22HAH 2= 17,014 26,944 A 9,930
308 XX G SOl A 10,925 0 10,925
05 AXSHHZ2ESSZS 10,925 0 10,925
OANZFRMHERMARS(SHY]) 2lAa2 10,925
403 XX SRS K20 & 6,089 0 6,089
02 27| 2 S 0l CH St CH & AFR H 6,089 0 6,089
OANZ 22 RAIAE 29 KX H| 6,089
B0 Zx )32t 4 49,500 49,500 0
= 15,840
= 12,651
= 21,009
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PN HEX D
HE: HIAY ABAE
ool SEXQ BB P EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 49,500 49,500 0
= 15,840
= 12,651
s 21,009
02 QItFAEXZ 49,500 49,500 0
O ZEs0s T2 g2 84
16,500,000& »3H 49,500
= 15,840
= 12,651
e 21,009
ANz Tl E2MHA 2S(EX) 15,601 0 15,601
= 3,544
i 12,057
201 L4l 15,601 0 15,601
2 3,544
s 12,057
01 At 22l 15,601 0 15,601
OANZF Mas72HA 25 elas(Z4X) 15,601
= 3,544
s 12,057
ANz 2SI18 =S ZH WA 24,840 0 24,840
= 6,210
[ia 18,630
201 et 24,840 0 24,840
= 6,210
[ia 18,630
01 At 22l 24,840 0 24,840
OANzZ# 3718 ==l uH 24,840
= 6,210
e 18,630
2018 HEFERI XH 1,158,908 1,320,385 A161,477
SREHN 24 46,680 60,680 A 14,000
201 Let24dH] 46,680 40,680 6,000
01 At 22l 46,680 40,680 6,000
O3RN 2 & ISSE 3,000
OZ2RH CABANY NS (NSS4
) 10,000
OkbMESsHAIAS 25,000
Oz 82MHE £ 30,0008 +«3&5+12& 1,080
Odiusg & ZgAuNs Uz R
2,000 ~400 & *23] 1,600
oLsxzg2dg 6,000
SH=EX B2 888,501 1,055,807 A 167,306
201 Let2d] 738,060 738,000 60
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SN HIXAD
B BN ABYs
Sl BII® HEEI T4 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OIALBEES 551,772,000& *2.945% 16,250
OFILYBEZ 16,250,000& *6. 55% 1,085
wWsIIe == 1,292,879 1,548,348 A 255,469
< 294,757
s 998,122
NI 2 At 1,292,879 1,548,348 A 255,469
< 294,757
s 998,122
SAUE ghE:stn & 166,000 208,000 A 42,000
308 AAIEHHSOIA 166,000 208,000 A 42,000
06 WSII20Het2x= 166,000 208,000 A 42,000
OZstn stASTAY K& 38,000
O=SMHM== 43t X& 3,000
Oglt=s dutd X 68,000
ogns Exus 29 57,000
HULSH WA X X & 44,500 0 44,500
< 22,250
s 22,250
308 XtXIEHH SOl A 44,500 0 44,500
< 22,250
[ia 22,250
06 I 20HUSEXS 44,500 0 44,500
OF0E WA XI& 22,250,000& x2H 44,500
S 22,250
s 22,250
=28 AHSY ofdHA+=X& 66,468 67,308 A 840
306 ¢ 2 66,468 66,468 0
01 &3 66,468 66,468 0
O2=22 MY it X
2,292,000& x29Y 66,468
SWs g0 23 113,300 143,002 229,702
308 XtXIEHHSOIA 113,300 143,002 229,702
06 nFI2UHUSEXS 113,300 143,002 229,702
OJF0NE WA el XA 95,000
OYUHMEHME T2 L WIHIHLHI 3,000
OZHMEHH Jl=sAt =48 N 15,300
Ng o520 s4AHS 28,560 65,000 A 36,440
< 8,568
s 19,992
308 MXIEHMSOIH 28,560 65,000 A36,440
< 8,568
s 19,992

- 360 -




PN HEX D
M DRI =2F
ol XIGOITH LA AL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
06 I 20USEExS 28,560 65,000 A 36,440
OXNEs M SHALS
=atw 28,560,000& = 14 28,560
< 8,568
[ 19,992
TE3N stngal X3 43,397 43,840 AN 443
< 19,288
e 24,109
308 XAXIEHHSOIA 43,397 43,840 A 443
< 19,288
= 24,109
06 I 20UStE2xS 43,397 43,840 AN 443
Odlaads stugh 48,218,000& *90% 43,397
< 19,288
s 24,109
JI=&80w Jl=sAEI(S48) XI& 64,338 63,000 1,338
< 19,301
s 45,037
308 MHXIEHMSOIH 64,338 63,000 1,338
< 19,301
[ia 45,037
06 I 2HUHSEXS 64,338 63,000 1,338
OJI=E W JIsA(SAE)XE 64,338
= 19,301
fia 45,037
Ji=giw wsoz )y XA 50,000 50,000 0
< 15,000
s 35,000
308 AHXIEHHSOIA 50,000 50,000 0
< 15,000
fia 35,000
06 WSII20Het2x= 50,000 50,000 0
OJi=giw nexz27y XA 50,000
< 15,000
[ia 35,000
S48stow X 10,500 15,000 A 4,500
308 XXM SOIA 10,500 15,000 24,500
06 WEII20UHE2ES 10,500 15,000 A 4,500
OJI=810l WsHAML(2+8 S23) 10,500
HEETHL XA 10,000 20,000 210,000
308 XXIEHH SOl A 10,000 20,000 A 10,000
06 I 20HUSEXS 10,000 20,000 210,000
OHSEs SEgustusia 10,000
Hxs=20E 8352 &8 s4 70,000 70,000 0
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2N
X ZH -
L= B

el

ol
=

B0
12 M0 ox
0w© o ¥

oM XA
= e o
0 Off

Pl

AL

F

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 21,000
- 49,000
308 XNHXIGHH SO0l & 70,000 70,000 0
= 21,000
= 49,000
06 EI20HUSEX= 70,000 70,000 0
OlldMs=E0t =29 & 4
35,000,000 *2JH 2 70,000
& 21,000
= 49,000
st 2agal X 147,117 135,945 11,172
308 AXIEHHSOIA 147,117 135,945 11,172
06 EI2HUSEX= 147,117 135,945 11,172
OstuRagaldl XA 147,117
— NSshHM 2,900 x534% 190! x50% 147,117
AUEZ2=L=s=2 WA (XA 100,000 100,000 0
308 XHXIEHSOIA 100,000 100,000 0
06 m=EJ|&tistEx2 100,000 100,000 0
OgiE =282 s 100,000
StNRAZA XK (BEX) 378,699 360,753 17,946
& 189,350
= 189,349
308 XHXIGH SO0l & 378,699 360,753 17,946
& 189,350
= 189,349
06 EI2UHUSEEX= 378,699 360,753 17,946
OstnPaAZAH XNF(EX) 378,699
— XSSt 22,2002 x1,083H 190! *50% 226,347
& 113,174
= 113,173
— Z&tM 2,900 x553H 190 x50% 152,352
o= 76,176
= 76,176
HEsNE A2 3,713,823 4,434,334 ANT720,511
2 630,000
J| 89,826
o=} 838,011
= 2,155,986
MEH s 22 2H 3,713,823 4,434,334 ANT720,511
2 630,000
J| 89,826
= 838,011
= 2,155,986
SSHSAME JIsES 52,000 27,000 25,000
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AR E= DAL=

Ha: MSVE YA
SRl MBS 2 HE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odsy MEHd=s ZH AR 5,000
Od=HM& ¥ AIAZAUSF It 4,000
OXMEOHAMSCHS It 3,000
OF=SAMEHC SHOISHEUSE =IOt 2,000
OgazZ==I dI3FMMAAAUE 14,000
HEZ AOIESEE Jlsid 10,000 89,900 279,900
201 L2l 10,000 9,900 100
02 2324l 10,000 9,900 100
ONoIEEE s5294H| 10,000
MEHsSRY 29 16,600 17,900 A 1,300
< 4,980
s 11,620
307 21201 A 16,600 17,900 A 1,300
< 4,980
[ia 11,620
02 2t EXS 16,600 17,900 A 1,300
OdaEHsns 29 16,600
< 4,980
i 11,620
2ot MEHSXEX HIX 72,684 66,240 6,444
J| 36,342
s 36,342
307 glz2tol & 72,684 66,240 6,444
Jl| 36,342
s 36,342
RoHAABED 72,684 66,240 6.444
OYst MEHSXEI thl
24,228,000& x 13 39 72,684
J| 36,342
e 36,342
Oz4a MEXMSXEZA BHX 72,864 44,160 28,704
J| 36,432
s 36,432
307 glz2tol & 72,864 44,160 28,704
J| 36,432
s 36,432
02 RIZHENEXS 72,864 44,160 28,704
Oz MEMSXEZX HHX
24,288,000 x 13«3 72,864
J| 36,432
s 36,432
FAE EFuA 29 8,400 8,400 0
< 2,470
s 5,930
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AR E= DAL=

M HMEgds 928
MEHS 22 X e )
A B8 a2 (3) - HRAY - BES il 2
307 glz2tol & 8,400 8,400 0
< 2,470
e 5,930
02 QItFAE XS 8,400 8,400 0
ORad FE2ud 29 8,400
= 2,470
i 5,930
MExs 52 =220 26,600 26,600 0
< 8,000
s 18,600
307 21201 A 26,600 26,600 0
< 8,000
[ia 18,600
02 QB AEXRS 26,600 26,600 0
OdEN=s s3¢ el 26,600
< 8,000
e 18,600
Hdet=SE SEMATE Y 29 743,000 765,730 N22,730
< 583,000
s 160,000
101 1244 Hl 598,369 572,410 25,959
< 583,000
[ia 15,369
04 JIZHHZ22XHEES 598,369 572,410 25,959
OH o= 546,884
—Jl=s 289,314
- 63 45 = 1,934,200& x1H x 123 23,211
< 23,211
- 88 17e=3 2,390, 1003 x1H +123 28,682
< 28,682
8= 13&= 2,176,400& 1« 123 26,117
= 26,117
9= 1453 2,024,200& 1A+ 123 24,291
= 24,291
92 1283 1,915,400& x1H x 123 22,985
< 22,985
9z 11z 1,857,800& x1H x123 22,294
< 22,294
92 283 1,265,200@ x1H x12& 15,183
< 15,183
=48 265 S 2,643,000 x3H «12& 95,148
< 95,148
=& 2653 2,616,900& x1Hx12& 31,403
= 31,403
- &2+ 289,314,000& *1/12%45%*23] 21,699
< 21,699
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SN BEXAD
M HMEgds 928
oo MEHS 32 B (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— &= 8,160
- <Xt 40,0003 «7H =128 3,360
< 3,360
PN 20,0003 x20H «12& 4,800
< 4,800
—ZUZRE 40,222
- 62 9,692% 1 x40A| 2t+ 123 4,653
< 4,653
- 8= 7,860& *2% *40Al 2tx 128 7,546
< 7,546
- 92 7,104 4 H «40A| 2t <123 13,640
< 10,875
s 2,765
= 7,491 3 4 F +40A| 2E+ 128 14,383
< 14,383
— o 2ZR*e 2,497@ »4H xBA| 2+%365/2 14,583
< 14,583
— A4St x4 4,800
nsstu 400,000 *3H x4 3] 4,800
< 4,800
—dZ2+=Elit= 10,920
58 0l4 10& 0] et 50,000 «3H x12& 1,800
< 1,800
- 108014 1540l et 60,0003 «4H «12& 2,880
< 2,880
- 254 01 & 130,000& x4 H 128 6,240
< 6,240
— dA A 130,000& x11H 122 17,160
< 17,160
—Ag2xdl 14,460
6= 155,000& x1H 122 1,860
< 1,860
8= .92, =38 105,000& x10E »12& 12,600
= 12,600
— ZE SO 289,314,000% *1/12x60%*23| 28,932
< 28,932
— GotE &l 289,314,000% *1/12%x20/30 16,073
< 16,073
— 428 RE3 451,740,000& x9.5% 42,916
= 42,916
R = = 451,740,000 *1/12 37,645
< 37,645
OAZE 2= 47,488
—Jlzs 39,9703 x2H #253L 20,225
< 21,091
ia A B66
—d0= 10, 112,500& »2H x4/ 12 6,742
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AR E= DAL=

HEM: HRINE JAALS
Sl MBS T HE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OUHEHIIZE HMel =2 1,500
O&tBMEEZ2 500
OJIAHEYl, NS & KAEx=22 9,494
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0]
OAF2Z2 &0 | 3,000
206 M EHl 1,000 2,000 A 1,000
01 X Z H| 1,000 2,000 A 1,000
ozg el 1,000
AZ2AF0IE2H 24,360 19,320 5,040
J| 17,052
& 3,654
= 3,654
301 et A= 24,360 19,320 5,040
J| 17,052
& 3,654
= 3,654
01 Al B & A 46 2 24,360 19,320 5,040
OAZ=x 2% 0|l2H 70,0003 x12& x29H 24,360
Jl 17,052
== 3,654
= 3,654
2HINEX 24 7,300 7,300 0
o= 2,190
= 5,110
307 2I2t0| & 7,300 7,300 0
o=} 2,190
= 5,110
02 QI2t3 A8 X2 7,300 7,300 0
OZHNEX 29 7,300
= 2,190
= 5,110
HSAEXA 3,000 66,000 A 63,000
308 AXIEHSOIA 3,000 6,000 A 3,000
06 w=EJl&stE X2 3,000 6,000 A 3,000
OYalx=ss1 HIAE EXAE 3,000
HAYE S0twas 29 5,040 1,920 3,120
& 3,717
= 1,323
301 et A= 5,040 1,920 3,120
& 3,717
= 1,323
01 Al B & A 46 2 5,040 1,920 3,120
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